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g2 S©v What Gan You Say About a Really Terrible fMlummy Joke?
.m M STy Solve, then cross out the letter above the solution. When you are finished, the answer to the title question will remain.
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mm = -5 2. -z =-4 3. a+70=2 4. -3t=99
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s B, qu|: B. -14 + u=50 7. —-18x = -360 8. 75=n+09
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9. 30=12d 10. 45 +qg=95 1. 24=-3 12. 20=-7+w -
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2 138. 64 =x+ 100 14. -5b=-12 I5. g+ (-1) =16 16. 45p = -180
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2 1. -6=o5h 18. m- (-4 =32 19. -10a = -72 20. -12=y-36
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85 2l. -8e=4 22. 5 =-25 23. -92+w=-10 24. -n=40 \\W%s/
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